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Nz PR BEFE 757 YRy AFtiER
AIC) R ORE(2) 15.000 12.450 27.450

2 LN HEAET(D) 9.350 7.650 17.000
3 G I FisR(1) 8.850 7.850 16.700

4 0O B0 =%0) 7.950 6.750 14.700
5 BT BE E(1) 7.800 6.700 14.500
6 ‘AR & EAQ 8.350 3.850 12.200
7 1EX A KHE RERQ1) 5.350 6.700 12.050
8 (EZNEl BE ER(1) 4.600 3.950 8.550
9 [EZNTll hAR (1) 3.650 4.700 8.350
9 sl ERBEE(L) 3.250 3.600 6.850

11 AAHHRE mA XRE(2) 5.450 0.000 5.450
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NEL R BEFH DiER EfS= CULR (E2
1 AIC) R OEER) 8.000 7.000 0.00 15.000
2 Ik FRARETH(1) 5.300 4.050 0.00 9.350
3 LN I FIR() 4.600 4.250 0.00 8.850
4 (RN & EAQ 4.100 4.250 0.00 8.350
5 #0 HA =%0) 4.300 3.65 0.00 7.950
6 B B8 2(1) 4.400 3.40 0.00 7.800
7 AAHERE AA K2(2) 2.500 2.95 0.00 5.450
7 1EX A KA BE1) 2.200 3.450 0.30 5.350
9 ERIHAN BB ER) 1.500 3.10 0.00 4.600
10 Ll FIl REQ) 2.100 2.550 0.35 4.300
11 1ER A A #i0(1) 1.400 2.250 0.00 3.650
12 )%= BR A1) 0.800 2.450 0.00 3.250

il NFEH BI~YAR~

NEAZ FRE BEFEL Dig = E5 = CImA (E3)
1 AICJ o EBQ2) 7.200 5.250 0.00 12.450
2 IR I FIR(1) 3.400 4.450 0.00 7.850
3 LN FRAETH(1) 3.800 3.850 0.00 7.650
4 #0 A =%0) 3.000 3.750 0.00 6.750
5 ER A KA BE1) 2.700 4.000 0.00 6.700
6 B %8 E(1) 3.400 3.300 0.00 6.700
7 i BR =) 2.800 3.400 0.00 6.200
8 1ER A LN G)) 1.700 3.000 0.00 4.700
9 ER A A ER) 2.000 2.850 0.90 3.950
10 (RS # BAQ 0.900 2.950 0.00 3.850
11 )%= BR A1) 1.300 2.300 0.00 3.600
12 NGl KB BFQ) 0.300 2.400 0.00 2.700
13 EBTFR TE F47E(1) 0.500 2.050 0.00 2.550
14 LEBRFHR AZET BRE(1) 0.600 1.950 0.00 2.550
15 EBRFR hi 1AE(2) 0.100 2.300 0.00 2.400

~[H R~

NEHz e D= Effm CIRLE= (E3
1 EBRFRAFRA 2.600 3.234 0.000 5.834
2 ReZFBHEKB 1.000 2.000 0.000 3.000
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